001.  Find the correct order from following in which fuel is injected-
(A) Fuel tank — Fuel filter — Fuel feed pump — Fuel injection pump
(B) Fuel tank — Fuel feed pump — Fuel filter — Fuel injection pump =
(C) Fuel tank — Fuel filter — Fuelinjection pump — Fuel feed pump = injector
(D) Fuel tank — Fuel injection pump — Fuel filter - Fuel feed pump — injector

001. ot -5 s 2 Al WA el 3 sul © 7
(A) Fatct 208 — symie (5 ez — sapa 4l vn — sad Srsun i — §rE 522
(B) $42id 2i4l — gyia 818 i — gy (Beer — syud e 5914 YU — B 522
(€) e 21 — sy [Beem — i §-F s U — syie §ls - % 522
(D) 44 214 — syet §-5ar iU — gy (Beez — sy §ls Wi — e 522

002. In multi point fuel injection (MPFI) how many injectors are required forsix cylinder engine

— injeetor

injector

(A1 (B)2
©3 (D)6
002, M S sad S-R5a (MPFI) Hi 9 il B wid Becu §-¢522-0l %32 87
(A1 (B) 2
(©)3 )6
003.  Which of the following is true about the removal of an automatic transaxle from a vehicle?

(A) The transmission cooler lines must be removed first.
(B) The battery must be disconnected first.

(C) The torque converter must be removed first.

(D) The oil pan must be removed first.

003, el 2aafd 2i-usudn g2 s [@d AA-uuidl 54 iy 87
(A) Anan 2i-ufia sl ad-l g sadl ASA.
(B) Auan clzdl BrsAse sl A
(C) duan 25 s=adan g2 52d A
(D) Anay A WA £2 sl A

004.  The wire at the output terminal of an alternator connects to which terminal?

(A) The ignition switch input terminal. (B) The starter at the S terminal.

(C) The battery positive terminal. (D) The interior fuse panel supply terminal,
004, 22222 2G2y2 2B Ul AR su 2liHd 0l Ao B ?

(A) $o-lat 2l $-1yz 26, (B) S 2BlHa w2 221,

() A2l WiHRa 2({na. (D) 2AidRs sy U e 2B,

005. A two-speed wiper motor works on high and on pulse delay but not on low. Which of the following
could be the cause?

(A) Low-speed winding failure. (B) Low-speed brush not making contact.
(C) Pamaged ground circuit. (D) Wiper switch failure.
005. 2l auduz ez G2 2 ued Rde iz s 52 8 wig e g @l A A-unidl 59 51201 6l6 93?
(A) 208 B0 arS-flor (g At (B) eS| 50 gy 2y 4 5 el
(C) sz wG-s ulbe. (D) AU 2 Mg,

—
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WA A RESTUHIeEr arrives at a shop and his car battery voltage 15 10.0 VORES WiLID 2R =0T 7
does this indicate?

(A) Overcharging. (B) Undercharging.
(C) Normal surface charge. (D) Sulfated battery.
006. A5 A5 gt uz 2 B, AN ol Al vin B cad vzl dley 13:64lee 8. w0 Y yud 97
(A) 2L (B) wis2al%or.
(S EICTEENE RS (D) A5 246129\,
007. The commercial lead acid cell has 13 plates. The numbeér of positive plates would be
(A)o (B)7
()8 D)9
007.  SuRluadls AR Aaui 13 @2 du 8. Wfda @zl v ......... e,
(A) 6 (B)7
()8 D)9
008.  The compression pressure in diesel engine is around
(A) 30 Kg/cm? (B) 10 Kg/em?
(C) 20 Kg/em? (D) 40 Kg/cm?
008.  fovet ALl SNAA AR <.oc....... 2UAWH U S,
(A) 30 Kg/em? (B) 10 Kg/em?
(C) 20 Kg/em? (D) 40 Kg/em?
009. The device for smoothing out the power impulses from the engine is called the
(A) Flywheel (B) Camshaft
(C) Crankshaft (D) Clutch
009.  AFPruiel waz S U1 viidal WL Buse ... PRETURCN
(A) saudla (B) 3Hauge
(C) 35252 (D) 54
+010. The ease with which a liquid changes to a vapour is called its
(A) Vapourability (B) Boiling point
(C) Viscosity (D) Volatility
010 nawdl aunHi B ARAA WA UEAA B AR A .......... s8AUD.
(A) ciflodart audl (B) Geseirt [Bag,
(C) Bt (D) AR
011. The material used for the piston of modern passenger cars are
(A) Brass pistons (B) Cast iron pistons
(C) Aluminium alloy pistons (D) Steel pistons
011, 2uyfRs dd-=R s (Rzet w2 quaidl amall ... 0.
(A) R @2 (B) 5122 2 Qe+t
() AR Adl fazn (D) ¥et e

—_
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is absorbed by the spring 15
The rear end suspension arrangement in which rear end torque 15

012.
called the
(A) Torque tube drive (B) Hooks drive
(€) Differential drive (D) Hotchkiss drive
012, st D51l A2t eaczen Fuiusn-u B A4 Bt sl 20Q 8 A e sda B
(A) 25 yot y16a (B) g5 41094
(©) @des (D) Hotchkiss $15
013.  “In the automobile, the power train carries the engine power from the cn;:.‘inc to the rear wheels.
The power train includes the clutch propeller shaft, differential and .....
(A) Front axis (B) Steering gear
(C) Gear box (D) Chassis
013, “alAnleuSani, war 24 AL al3ad Al wesarn Ll gl ad 8. U Gl g
WilaR g2, Ades 2 .. S8,
(A) 2l 43 (B) ReulZa Bz
(©) Bz ollsu () AR
014. “To take care of the difference in the driving angle as rear axle moves up and down, the propeller
shaft has one or more ....."”
(A) Slip joint (B) Elbow joint
(C) Release joint (D) Universal joints
014, qusndl AAsda Guz A3 DA WA B cud g Aol agtadl 51w a2, Wla gz s
o Y .....”
¢A) [Bau ui (B) slell-t uit
(C) ustal it (D) s uiw
015.  Which of the following layouts is not used in motor vehicles?
(A) Frout engine front drive (B) Front engine rear drive
(C) Rear engine front drive (D) Rear engine rear drive
015. - Ald-umidl su Avube-d Wz ard-lui GualaL udl 4412
(A) 52 Al 572 §16 (B) %2 Al Wyl §16a
(C) W Al 52 §164 (D) A2 22 Doz y15a
016. Of the four tyres on a car, the one that wears most is the
(A) Right front tyre (B) Right rear tyre
(C) Left front tyre (D) Left rear tyre
016, SRl AR 2iuauidl, Fui Al a4 duRl au 8 d 8
(A) BHE 21U 2R (B) ¥ wisnns 2qu2
(C) 319 g 2142 (D) 164 Wen 2103
PSIMT - D | 4 P



017.

017. w3 ... AL s AdlE cava@d s2ami wud 8.
(A) 2R adla alZsa 3l
(B) 21010 2 g @i (5o [ 248
(C) ziviad A s @-ui (Ba R
(D) 2ot ARGl 1l 20l azs
018. Leaf springs absorb shocks by
(A) bending (B) twisting
(C) compression (D) tension
018, 15 o ... G121 LA S WV AD.
(A) ung (B) adll g
(C) dslur (D) deud
019. Which of the following represents the correct specification of a tyre?
(A) 155-80-R-13 (B) R-155-80-13
(C) 155-80-13-R (D) 155-R-80-13
019, DA ......... 2027 A apdlsze suld ©.
(A) 155-80-R-13 (B) R-155-80-13
(C) 155-80-13-R (D) 155-R-80-13
020.  Which of the following is an automatic clutch that is controlled by engine speed?
(A) Cone clutch (B) Centrifugal clutch
(C) Fluid clutch (D) Disc clutch
020, - Al s s 2lAARS sau B B AR%-+Al Asu a1 FeilRa w 8.
(A) g 5642 (B) srscadll 6
(C) ueél 54 (D) B2s 56
021. The hand brake of the automobile is usually
(A) External contracting brake (B) Internal expanding brake
(C) Dise brake (D) All of the above
021, izilousadl des 6l AHAI A L, SIS,
(A) vuaL 5215800 5 (B) wtidls Ra2el
() (s ds (D) GUA5d dHIH
I
% [ P.T.O.

Caster is defined as the inclination of

(A) Front wheel to the vertical

(B) The King pin axis in the fore and-afi plane

(C) The King pin axis in the transyerse vertical planc

(D) The axis of stub axle to the horizontal




022.

022.

023.

023.

024.

+024.

025.

025.

026.

026.

027,

027.

i to
. the cylinders due
In water cooling, the water in the jackets obfains heat from y

(A) Conduction (B) Convection
(C) Radiation (D) All of the above
dler gléoi, R3eiq well Fle-saluidl a2l And B dd SR8
(B) s
(D) Gualsd ddtH

----------

(A) 4
(C) 30309+

- 5
Which of the following is known as ‘Breakerless Ignition system =
(B) Magneto Ignition system

(A) Battery coil ignition system - |
(D) Capacitive discharge Ignition system

(C) Electronic Ignition system

Qdnid . ‘Asda Ho-llat Breew’ adlg vlavuu 8.

(A) d2dl sida So-flat Rzen (B) W22l $ollart Rz
@) 3A@Aa B So-lat ez

(€) Bds2ls Sadla Rren

Which of the following is used to transport materials having flat bottoms?
(A) Belt conveyor (B) Roller conveyor

(C) Chain conveyor (D) None of the above
A ....... Al Guadlor 2wz aolly wriad] ell-u uRas- w2 au 8.
(A) olez s-duz (B) 4R sdur

(C) A6 s-au2 (D) GuAsauidl 516 14l
Vehicle rolls due to which reason?

(A) Engine Thrust (B) Gravitational Pull

(C) Centrifugal Force (D) Road Resistance

UL SRR A uadl sy 87

(A) A uze (B) Aeu s Y&

(C) 3wesll on (D) s uldsz

Hook’s law holds good up to

(A) yield point (B) elastic limit

(C) plastic limit (D) breaking point

e I C U »Hl 20dl uss 4R 8.

(A) Guz (g, (B) Raldaus wule
(C)wlZes nulel (D) ABa WS-z

The purpose of a riser is to

(A) deliver molten metal into the mould cavity

(B) act as a reservoir for the molten metal

(C) feed the molten metal to the casting in order to compensate for the shrinkage
(D) deliver the molten metal from pouring basin to gate

ASHA &g ... 8.

(&) Wadlell uigA aies QAU udlasdl

(B) Wil g w2 2iusian adll sid s2q

(€) Al owS 2 w2 Mol g siBzo udlasd)

D) Nadedl qigA widlow ARl iz ) udlasd)

PSIMT - D | 6\
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. 028.

Gantt chart is used for

(A) inventory control (13) material handling
(C) machine repair schedules (D) production schedule
028.  Ganttal? .......... 2 QuRIU B,
(A) S--24l 52la (B) Aldlua d-sl@
(C) uell+ Rz Ay (D) Geaug Asyd
029. Drilling is an example of
(A) orthogonal cutting (B) simple cutting
(C) oblique cutting (D) uniform cutting
029. (§f@au........s 4 Gewsaa 9
(A) »labdid 58 (B) #4201 52121
(C) Al £41 (D) A 5212
030. The gear train usually employed in clocks is a
(A) simple gear train (B) reverted gear train
(C) sun and planet gear (D) differential gear
030, iy A3 aRuwodlui Gudlow dad! Bz 24 A v 8.
(A) gl Bz 21 @) RaZs Bz 21
(€) 3 ¢4 3t Bz ) Rles Bz
031. The value of stress concentration factor depends upon
(A) material of the part (B) geometry of the part
(C) material and geometry of the part (D) surrounding Atmosphere
031 deua Asadl URAN YA AL .....n.n. R AR B
(A) a2l unsll (B) el oyf#ld
(C) ot 3l 2 oyfld (D) PUAMIRAAL AUALAREL
032. The difference between dry bulb temperature and wet bulb temperature, is called
(A) dry bulb depression (B) wet bulb depression
(€) dew point depression (D) degree of saturation
032, 4l OLeot diuaint A 42 G AU CES R ETC T —— PRETURZS
(A) §ta ereot (33 (B) 42 sieot (Boa
(C) s [Big (3Aat (D) gl slat
033. In order to measure the flow with a venturimeter, it is installed in
(A) horizontal line (B) inclined line with flow upwards
(C) inclined line with flow downwards (D) any direction and in any location
033, -l ad uad WHU MR A ... A ie2 2l s2ami 2ud 8
(A) 2udl 3w (B) GuR Azt s udl Asadl 2wy
() A dzg-t e 0 sl (D) SiSut Redui ¢4 s6u 2
PSIMT -D | 7 [ P.T.O.



. is called
034.  The centre of gravity of the volume of the liquid displaced is cal
(A) centre of pressure (B) centre of buoyancy
(C) metacentre (D) none of the above

034.  [Rzfd ada nadlu e Awelsil 5w e sda 6.
(A) guuRLg 5 (B) G &% |
(C) Hewl-22 ) Gualsd WAl a5 wel Al
-035. Which of the following is not a reaction turbine?

(A) Furneyron turbine (B) Jonval turbine

(C) Thomson’'s turbine (D) Pelton turbine
035, DA-uyiell sy w@Ba 2oif- 1¢l?
(A) &rRIA 264+ (B) Atad 2ol
(C) dlHatrt 261 (D) Ueznt 2ot

036, The more effective way to increase the thermal efficiency of a carnot cy
(B) Decrease the sink temperature

cle is to:

(A) Increase the source temperature

(C) Increase the sink temperature (D) Decrease the source temperature

036. stz a5l e selamdl aurarll 4y aRsRs Ad 6 :

(A) AAldd dluHA quiRg (B) Risg drwaut s2usg
(C) Risg diusut atirg (D) Al A q21sg
037.  Frosting of evaporator tubes results.in
(A) Increased heat transfer rate (B) Increased compressor pressure
(C) Decreased heat transfer rate (D) Decreased compressor pressure
037.  cusdlerad s+ 2yeid ARt ... Hi uRed 8.
(A) 230l 2aid2et £34i axRl (B) 51312 eouei a4zl
(€) A3 2&id@ £3i B2l (D) s1¥IAR gonemi g218l
038.  Which one of the following mediums is used for the fastest cooling rate of steel quenching?
(A) Air (B) Oil
(C) Water (D) Brine
038, #la auei- Al 33l 85 £ W2 AA-unidl su He-l Guagdap iy 97
(A) gl (B) det
(C) well (D) w2t
039.  In throttling process, which one of the following parameters remians constant?
(A) Temperature (B) Pressure
(C) Enthalpy (D) Entropy
039.  al2(Ea uBupi, QA-uuidl 54 ulZwe Ruz 28 87
(A) A (B) e6uRy
(C) el (D) A2
PSIMT -D | 8



The leakage in a Ereon based refrigeration system can be detected by usbaig A

040.
(A) Oxyacetylene torch (B) Halide torch
(C) Sulphur torch (D) Blue litmus paper
040. Sl iR 3o et (Brazmi ABY Lo A Gurilan sAA 2l a5t B,
Ay w500 A 212 () dells 20l
(€) uegz 2l (D) vy [@zua 2
041. The surface roughness on a drawing is rcprcscnletl by
(A) Circles (B) Triangles
(C) Squares (D) Zig-zag lines
041, Q8% ua-l wudll 26 e A giri safaai 2 87
(A) adall (B) B
(C) 4la @) Bror-do1 vl
-042.  Wrinkling is a common defect found in
(A) Bend components (B) Embossed components
(C) Deep drawn components (D) Blanked components
042. 2ol (Wrinkling) 3L 915 0t Wil 8 % ..o W AU Wil 8.
(A) Gl=s s¥dlre (B) il s¥ulet-2
(C) Ad drawn s¥{l-2 () vds s¥ul-2
043.  The power from the sun intercepted by the earth is approximately (in MW)
(A) 2.1 x 10" (B) 1.8 x 10"
(C) 2.0 x 10 (D) 3.1 x 10"
043. . el uz uardl Y-l Al e 5 S MW) 8 ?
(A) 2.1 x 10" (B) 1.8 x 10"
(C)2.0 x 1013 (D) 3.1 x 10"
044.  Asystem which is in equilibrium with its surroundings is said to be at the dead state having zero
(A) Energy (B) Entropy
(C) Exergy. (D) Enthalpy
044, Bl Breza i Arl AR AR W AMdAnE €lu AR d Dead State Hi 8 Au gy x4
Al .. grasia?
(A) w12 (B) 2=zl
(C) wad (D) Aruadl
045.  The ratio of the optimum reheat pressure (of the modern steam power plants) to the initial
steam pressure is about
(A) 0.10 to 0.20 (B)0.20 to 0.25
(C) 0.25 to 0:30 (D) 0.30 to 0.40
045 ’i;'ll;"-‘-“““‘;l :Stm Adun Adlz (Refeat) couet 2 wi3lts M sl el (Ratio)
(4)0.10 9020 (8) 0.20 0l 0.25
(€) 02541 0.30 (D) 0.30 4 0,40
PSIMT - D | 9 e ———
[ P.T.O.



046.

046.

047.

047.

048.

- 048.

049.

049.

050.

050.

Two reversible isobars and two reversible adiabatics constitute the Brayton eycle. The same

processes also make up the

(A) Sterling cycle (B) Ericsson cycle

(C) Otto eycle (D) Rankine cycle

olal us (Brayton Cycle) ol wldald auell (reversible isobars) w6l wldald aulwl (reversible
adiabatics) WEui-il e a8, v o wlkan g ol 54 45 (Cycle) w9 7

(A) ¥[&x as (B) wlRsu-t a4

(C) izl us (D) -8l U5

Air may be cooled or heated, humidified or dehumidified, or simply adiabatically saturated
when airis made to flow over

(A) an evaporator coil (B) condenser tubes
(C) a heat exchanger (D) an air washer

sl A2 wifl 56 aag el v sl A £4 waan A, Azl aal 6 Add aa g5
Al gt 53 asiu 8.

(A) 6dulRez sia (B) 534z &yt

(C) dlz viadyz D) AR dlaz

Mean effective pressure is defined as work done per cycle divided by

(A) clearance volume (B) swept volume

(C) total volume (D) none of the above

AU VAR EGULL (Mean Effective Pressure) -l v, Uld :uusaui ade sidd swdu ..........
(A) Bauz-u diegu (B) ¥ Al

(C) 2led dieyn (D) Gulsd WAL 25 wer -l

For buoyancy induced fluid flow and heat transfer, this dimensionless number is significant
(A) Grashof number (B) Nusselt number

(C) Reynolds number (D) Prandtl number

Da-uisdl sl WRerdlA o oilu=ll (buoyancy) Wdld uadl 2oua aan 1z 21153 W2 Fauoigrz 97
(A) Aslls 4R (B) e R

(C) Alesu o (D) Wr$r2et 03

For a Newtonian fluid,

(A) shear stress is proportional to shear strain.

(B) rate of shear stress is proportional to shear strain.

(C) shear stress is proportional to rate of shear strain.

(D) rate of shear stress is proportional to rate of shear strain,
42l 546 (Fluid) 22,

(A) DR 2, 2R -t WA Glu B,

(8) 2luz -l €2, MU Bttt HHIRRR Slu 8.

€0) 22 2, AR Rrt-tl AU €lu B

(D) Uz Bl g2, MU Frtril EU HHBIR Slu g,




051.  Unit speed of the hydraulic turbine runner is ...
N N
(A) NI (B) H
N N
(©) H_i M) 42
051, adddls 2ol A A ...
N N
™ 77 N
AN N
©) H; (D) g
052, If*ris the radius of a shaft ina journal bearing, the radius of friction circle is (u is coefficient of
friction between the surfaces)
(A p B)r
(C) wr (D) pr
052, A or e Ao g2l B dld dl arfet adui-ll B 22l 7 (‘w0 3 wudladl 42 el
Jyels B9)
(A) B)r
(C) wir (D) pr
053, For a long slender column of uniform cross section, the ratio of critical buckling load for the
case with both ends clamped to the case with both ends hinged is
(A1 (B)2
©4 (D)8
053, 2ls ami Sa-Asae Had Ao wan Sy w2, Basa susefla dlsHl 2pellaz (6 981 sdms [ ol
Bot Rp8) w2 2ecll 6 ?
(A)l (B)2
(€)4 (D)8
054. Two screw shafts may be connected for power transmission using a
(A) spur gear pair (B) worm gear pair
(C) helical gear pair (D) bevel gear pair
054. g:lﬂl el 56 Bruz AL (Gear Pair) -l Guadlay 5319 6 3 g2 sse 5307 Wk -ufaq ad 23
(A) 242 Pz A8 B) 13l Bruz A0
(C) Slasa Bruz Al D) Ada Bz Al
PSIMT-D | 11 | P.T.O.



055.

055.

056.

056.

057.

057.

058.

058.

; ause
The entire reciprocating mass of a slider crank system is never halancedo

(A) reciprocating mass does not reqnire balancing
(B) it would only change the divection of unbalanced force
(C) it is not possible to do so

(D) it gives rise to unbalanced couple

262 305 Reen-ll i 303G oo s 2iglad adl 4l a0
(A) ReUEE e 2gentll 732 -l

(B) d WA wglad ol Bau o wgd 8.

(C) d 524 2 o .

(D) d 2 (&Ad AsHi ad 53 9.

Under torsion, brittle materials generally fail

(A) along a plane perpendicular to its longitudinal axis

(B) in the direction of minimum tension

(C) along surfaces forming a 45° angle with the longitudinal axis

(D) not in any specific manner

2lR{urt (Torsion) »idold, ni-a Ad s2s et NA-widl 56 A 42 (fait) 8 ?
(A) A+l 3viie 4 o3y anda wd

(B) 4rd™ deuadl Bauui

(C) 2vtian 4l gl 45° Sloy orruadl qwdl W

(D) 516 Alssu Ad 1€l

When a close coiled helical spring is compressed, its wire is subjected to
(A) tension (B) compression

(C) shear (D) compression and shear

oui Aa sfa vaadl elasa Ruar #slid (co i .
e B e acaen b 3 (compressed) 52U 20 8 Al Al AR (wire)
(A) ¥l (tension) (B) dsluq (compression)

(C) [z (shear) (D) Al 243 Bz

A Mohr’s circle reduces to point when the body is subjected to

(A) pure shear

(B) uniaxial stress only

(C) equal and opposite axial stresses on two mutuall

of shear ¥ Perpendicular planes, the plane being free

(D) equal axial stresses on two mutually per ndicul .
68l Ddeyniell 44 2ulA 2 cu? Mo qa{:;xs U5 ;:z?ﬂe:i:[l[?!r:z :‘"“g free of shear
(A) 4t Bz (shear) ;

(B) Hua y[Radsud deua

(€) uRR4R gy Al U2 A A (A3 2ally qug, A

E !
(D) 42343 gy audl Uz it wielly i, 0ud) Rug Y 2 (shear) 4l Y51 8

an)dl ysd 8.

nOYRAT s e



059.  Which of the following properties improve because of forging process?
(A) Directional propertics giving good strength
(B) Percentage elongation and percentage reduction of area
(C) Resistance to shock and vibration
(D) All of the above
059. B B s1dl Ad-uniel sun Al Yl A w87
(A) A disid vl Raucs aul
(B) [@zriz/@ Al 44l (elongation) 251l 24 dzardl zsiudl
(C) 2isL dat su W wdsi
(D) Guksd dHIH
060.  In a rolling process the state of stress of the material undergoing deformation is ?
(A) pure compression (B) pure shear
(C) compression and shear (D) tension and shear
060. Al uBuni, R3udi (deformation)itll W2 ag HANUA ......... [ Ag™d O,
(A) Y sl (B) 44 (2142 (shear)
(C) slat 2 Rz (D) dsud 21 Bz
061. Cast iron are classified as per
(A) Sulphur percentage (B) Iron percentage
(C) Tensile strength (D) Indent hardness
061. 5122 2 AA-unidl deu gradllyd wu 8 ?
(A) 2¢53- estaudl (B) vl 2s1udl
(C) et al3d (D) $+3-2 g1
062. Steel containing 0.8% carbon and 100% pearlite is known as
(A) Ferrite (B) Eutectoid
(C) Austenite (D) Cementite
062. . 0.8% st6{-t w1 100% WRAS2 lu det 2Ala AA-iell 6 A 20 ?
(A) 582 B) y2selss
(C) vl2-ude (D) Rd-aie
063.  Which Rapid Prototyping process uses Photo-sensitive liquid as starting material?
(A) Laminated Object Manufacturing (B) Stereolithography
(C) Selective Laser Sintering (D) CNC
063. Al 56 »sdl AR uBu sy winsll 413 5121-2ide 190 adlil Guyla 53 6 7
(A) ABARs wloF 52 BUlEA (B) 2R g8
(C) wiieallysd dur Rredla (D) WA (CNC)
PSIMT - D | 13 T fhea
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Ul nic Additive Manufnclurinﬂ (UAM) has typically thicknesses
raso

064. The thin metal foil used in
of N\,
(AYVA> 1.5 pim (B) 10- 154
- 1.5mm
(€) 100 - 150 pm | | (fn 1 ‘ ' 5 "‘“d"n A aet st Wi 93
064 werls ARRA A-yf saawuam) Hi Guadant dud
i S Y,
(A)1- 1.5 pm (B) 10 - 13pm
(€) 100 - 150 jim (D) 1~ 1.5 mm
065. Which of thie below mentioned number indicate that vehicle was registered on Physical Handicap
person?
(AYGJ 01 PH 1234 (B) GJ 01 AB 1234
(C) GJ 01 IC 1234 (D) GJ 01 DB 1234
065 0 caldet -iorzaiel sal -io2 A w5 Rsaiv ailba-u s Al e wal?
(A) GJ 01 PH 1234 (B) GJ 01 AB 1234
(C) GJ 01 IC 1234 (D) GJ 01 DB 1234
066. What is the life of a battery in an electric car
(A) 8 year (B) 4 year
(C) 10 year (D) 20 year
066.  Sd5dls ars-llui dedAl ads sedl €lu 8 ?
(A) 8 ®) 4
(C) 10 (D) 20 ax{
067. Rule 115 of CMVR 1989, describes about
(A) steering gears (B) emission standards for motor vehicles
(C) specification of tyres (D) brakes
067. CMVR 1989+t [Run 115, AA-unidl i @8l agf 53 @ 7
(A) #ludlon Braad (B) 2R aus-Al W2 Geoft H=dl
(C) 2wz {1415 D) Asy
068. ::gec:.f:':lc':; ::':il ::;l (13 I;OO\;Esilz':i:?lﬂgk :frl:;'TcE_— shall be the authority to conduct a driving test
(A) Inspector of Motor Vehicles (B) Assistant Inspector of Motor Vehicles
(C) Both (A)yand (B) (D) None of the aboye
068. MV alszell sen 9 Al Wet-5eM(3) 460 it Al 3egy 2y A Gua-u A R SR
2z darl s sil.
(A) B2il522 ilg Hlez [Bseu B) 815 §-ad a3 s W2z (R
(C) (A) @1 (B) vid (D) G4Rl4q W4l 234 oy 1l
PSIMT - D | u  Contd.
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Which of the following direction was given by Supreme Court Committee on Road Safety?

069.
(A) MoRTH shall publish a protocol for identification and rectification of black spots
(B) Traffic calming measures
(C) Setting up special patroling forees along the national highways and state highways
(D) All of the above
069. ol sl »(9 udlza merad-l A g Ad-unidl sal R smani suedl 97
(A) MoRTH, 65 2dlz-ll wilam 244 ruren w2 sllsla wsilad s24l.
(B) 21515 2id, s wAdl
(©) 20l 3 sy Q] wz Ry WG el 2
(D) GURlsd daun
070. - No national permit shall be granted in respeet of a modular hydraulic trailer, which is more
than ___ vyears old at any point of time.
(A) 12 years (B) 25 years
(C) 15 years (D) 20 years
070.  lgyar e las davu deelui Adua edu wBe uuan 2uad 1, A sue qud 2L 2R
S | UL R
(A) 1298 (B) 25 4
(© 15 (D) 20
071. As per the latest amendments in 2019 the driver shall ensure thatachildupto__ yearsof
age is seated in an appropriate child restraint system, wherever provided
(A) 4 years (B) 10 years
(C) 12 years (D) 14 years
071, 20191 4dladn Hait Yot (8ad viadl sRALAGA 3, ...l Yl euns mlou ua Reiam
yondlui gl MLt 52T 2y dlu i % 84 8.
(A) 4 ax (B) 10 2y
(©) 12 (D) 14
072.  Who is designated as the Chairman of Gujarat Road Safety Authority?
(A) Chief Minister (B) Minister of Transport
(C) Secretary-of Transport (D) Transport Commissioner
072, aprd 38 Asdl AR A slet lud ?
(A) g ¥All (B) WRas+ ¥l
(C) alia uRag- [aeu (D) dst Aaas shiszsl
PSIMT -D | 15 [ P.T.O.
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y be held at least once in

073.  Meeting of Gujarat Road Safety Authority ma
(A) 2. months (B) 6 months
(C) 3 months (D) 1 monéh .
073 i s A6 20ARAD (rAlo1 2Alorai AL A AR covceeerzecy i dlogani vuadl Ad.
(A) 2 1l B) 6 el
(C) 3 1R ) 1
074.  When can an authorized officer seize a vehiele
(A) the vehicle is not covered by valid insurance
(B) the vehicle exceeds the speed limit
(C) the vehicle is not covered by a valid registration or permit
(D) all of the above
074. 523 2A5d 1@ s nd 5N w3 B 7
(A) st Hi-u D g2t 2iadl Qi 2uey 4 sl
(B) dleét 38U Hule il cud.
(©) At i-u el 2iaan ua@e gt suadl dami suda A glu.
(D) GURlsd dHI.
075.  Under the MV Act 2019, a penaltyof ______ has been provided for talking on a mobile phone
while driving.
(A) Rs. 1000 (B) Rs. 1500
(C) Rs. 2500 (D) Rs. 5000
075. MV 352, 2019 850, 6l 52l Aud Moudd 814 U2 Al s3en W ... £l Aot s
2dl 8 ?
(A) 3L 1000 (B) 3. 1500
€C) 3. 2500 (D) 3. 5000
076. For how long driving license will be suspended in violation of rules?
(A) 6 months (B) 3 months
(C) 9 months (D) 12 months
076.  Funflu Gedfurt adt (A2 @2t Seeu wau 4l wad o SRUNLWD ?
(A) 6 w3~y €B) 3}y
(©) 9 R~ (D) 12 #4{R¥wy
PSIMT - D | E ==
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The ability to recover and read deleted or damaged files from a criminal’s computer is an example

077.
of a law enforcement speciality called:
(A) Computer Forensics (B) SOC
(C) VAPT (D) Network Security
077.  ARBUR-L sxgzauiell sidl el el wtaan uldazd sl Y s2aidl 214 aiaadl aua
9 ster siellsan RN S o Gara .
(A) sye glelus (B) SOC
(C) VAPT (D) A2af Y
. 078.  Information Technology Act was amended in
(A) 2000 (B) 2007
(C) 2006 (D) 2008
078, iRl 2s-lclle Aszui su i Yl s el el ?
(A) 2000 (B) 2007
(C) 2006 (D) 2008
079. What is the full form of API?
(A) Application Programming Interface (B) Application Protocol Interface
(C) Android Programming Interface (D) Android Protocol Interface
079. APILdysl2a3uyo?
(A) A3 Wl §-228u (B) 21dl3a Mlalsly $r25u
(C) A8 WaBL §-228x (D) A-{l6s WABA §r225u
080.  Which of the following is not a nickname of any Android Interface?
(A) Kitkat (B) Lollipop
(C) Cupeake (D) Muffins
080,  flA-uidll 5 sdue A6 gl Gu-uaell?
(A) [3232 (B) dldluiy
(C) subs (D) H[E~
081. Distance of Air and Sea travel are measured in units of Nautical Miles, one Nautical Mile is
equal to
(A) 1.452 km (B) 2.212 km
(C) 3.112 km (D) 1.852 km
081.  sa A aydl narirt #iaR Adsa wideuai wu 8. As A sa wda H2d.....
(A) 1.452 (331 (B) 2.212 (&l
(©)3.112 A ¢D) 1.852 (33l
e —————
PSIMT -D | 17 [PTO.



082.

082.

083.

083.

084.

085.

085.

levision channe|
" Home (DTH) Te ) els pp
lizing 32 Direct wﬁgll quality educational content ¢, all

is a project for operationa o\ pmviditll-’. \

24 % 7 basis using the GSAT-15 Sate
:::;c::(;s(,)sétsudents and citizens. ai SWAYAMPRABHA
{C) Vidyarthi i vmhy“im" ol MEL 52 W2 GS.
.......... an [Res), @enelfanl w1 -uadlsiA 634 aynetell g a:‘::eﬂ-\ sdad szanl !vﬁ%ﬂ-:;
A2zl Guulal aii-?t 2457 1L Ml 32 1352 5 SIH( pr 2dllant 5249,
(B) 2 dUML
(D) [Qeuert
¢ Human pevelopment Index (HDI) is / are correct?
it will be considered as High HDI.

(A) MOOCS

(€) [@endl

Which of thie following statements abou

(A) If the HDI index is 0.7 and above on 1 point scale,

(B) If the HDI index is 0.6 and below on 1 point scale,

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Hirte [Ast yasis (HDT) cuotd A U4 s3/5 Qu-/RAL /R 87

(A) R i1 Rtz gzists 10672 e 6uz 0.7 1A d-ull GuR 11 Al A G uirta [Asi yasis adl
i dauni »iadl,

(B) A it st agzists 1016+ 23e 6u2 0.6 4 d-uell Dl gl ol A Al i (st yasis adll
i dauni 2ual.

(C) (A) 241 (B) bid
(D) (A) 21 (B) U4l AA5un 44l

Who among the following Governor Generals created the Covenanted Civil Services of India
which later came to be known as the Indian Civil Service?

it will be considered as low HDIL

(A) Cornwallis (B) William Bentinck
(C) Wellesley (D) Warren Hastings

A 14 st ez #12d MiRd-l 5200 A€l Al -1 59 dl 22 wesnell euzdla -l
Azl 4dl onelldl a8 ?

(A) sl ¢B) [Aldun Ales

(C) Ad4 (D) A+ SRz3

Which of the following is the nodal department of Right to Information Act 2005?

(A) Ministry of Home Affairs

(B) Department of Personnel and Training

(C) Prime Minister’s office

(D) Department of Law and Justice

A2 VA 520l RAAL 2512 2B, 20054) )5 Rowsy g 2

(A) %6 ¥4y ®B) S04 343 ey Rowat
(C) st srufau ) Se1 243 oy Rt

DCTMT N 10\\_ o I
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Which of the following statements is correct in relation with the Prime Minister of India?

086.
(A) Is free to chioose his ministers only from among those who are members of Lok Sabha.
(B) Can choose his cabinet colleagues after due counseling by the President of India in this
regard.
(C) Has full discretion in the choice of persons who are to serve as ministers in his cabinet.
(D) Has only limited powers in the choice of his cabinet colleagues because of the discretionary
power vested with the President of India.
086.  GdRet-tl Attt sitid A-u WA 54 [ g © 2
(A) dlsuoit aedluidl o dldi i uaiedll san w2 ada 8.
(B) it 2ea Mzt 22U 208 vl suf oug A 3oz wellerl A el 54 2 6.
(€) Al 30 3l 412 Ay 2R sadl-A wrieoll seansi il 20yl (3ds oyt 42d 8,
@) M-t 2URA iy 20ddl RAs A 512Q da-u dollde ellerl-l wgllui WA
HullEd Al 414 8.
087. Which of the following statements are correct regarding constitutional amendments?
1. Privaté members cannot introduce Constitutional Amendment bill in Parliament.
2. President cannot send Constitutional Amendment Bill passed by Parliament back for
reconsideration.
3. Constitutional Amendment bill requires special majority for its approval.
4. There cannot be a Joint Session of Parliament for passing a Constitutional Amendment Bill.
(A) 1 and 2 only (B) 2,3 and 4 only
(C) 2 and 3-only (D) 1,2 and 3 only
087.  oitzelly yriwil ueid 1A-u 5 sa Rl wa g ?
1. virtoll ueul (Private Members) Aueui oftzellu i wizst cudl asdl el
2. dwe g1 v sl 2dd ofielly YRt vas 02U Y Qe W2 urd 539 asdl ),
3. oituzefla et WSl ol w2 vz sgudlfl 732 glu 8.
4. o0l YU MR YRR 521 B HUE] AYsd uA 4 €lS U3,
(A)y§set 19412 @B) 55 2, 3 214 4
(C) §542 013 (D) §5 1,294 3
PSIMT - D | 19 o AR



088.

< 088.

089.

089.

090.

090,

091.

091.

; ¢ Advisory Jurisdiction of

Which of the following statements are correct regarding to th the

Supreme Court?

1. 1t is binding on the Supreme Con
President.

2. At least Five Judge Bench of
power of Advisory Jurisdiction. oference under Advisory Jurisdiction jg not

3. The opinion given by the Supreme Court on ar

binding on the President.

ive its opinion on any matter referred to it by the
rt to give

S me Court hears any reference made to it under its
the Supre ;

nd 3 only
(A) 1 and 2 only (B)la

(C) 2 and 3 only @y L3 2003 97

il el aassz wAls A ciod A AL 51 o 2{[;{ i j o{t5al &

1. A2 vEidd Ul gt Gedvlld A8 Rt sustd W L 7, i SR

2. el miad wilon oy uid 2Rl a2 At AR AR5 A 460 A Bedq
Sl 20dd slue onoid-fl Friasll sl 21d 8. . C

3. MR ARSRAA 360 e ] wR e vEtad G121 AT A AU 22U ofkrga]
el

(A) §5d 1244 2 (B) $5d 1213

(C) $54 2 24 3 (D) §5d 1,291 3

Which of the following statements is / are correct regarding Human Blood Pressure?

(A) Itis much greater in arteries than veins

(B) It is measured with an instrument called sphygmomanometer

(C) Both (A) and (B)

(D) Neither (A) nor (B)

it dldl-tL eeut (Human Blood Presure) ouod 1A 241 s2j/su Reuy/Ru-l A0 6 ?

(A) d Rl s2e aueani wg aud dlu B,

(B) d 2ol A2 wmet 8t ad Wi 2ud B,

(C) (A) %44 (B) i

(D) (A) 2t (B) U4l 2isugt ]

Which of the following is used to detect fingerprints on 5 piece of paper?

(A) X-ray (B) Infra-red rays

(C) Ultra-violet radiation (D) Gamma rays.

S 581 U (BorR Blraa slaal w2 DA 34 4.4 Gualloy gy 9 2

(A) at-(32al €B) $-5133 Raup

(C) wendl (32l (D) 2w Bagy)

According to the Atal Ranking of Institutions opy Innovati, ; i
of the following institutes ranked 15 ? " Achievements (ARIIA) 2021, which
(A) IIT, Delhi (B)nn

(C) IIT, Madras

UUH 53 4 9 ?
tA) 2u8 2 4, Bedl
(C) vuuus 4, usi

PSIMT - D | B " Sicne.



092.

092.

093.

093,

094.

094,

Which of the following statements are correct regarding New Development Bank?

1. Brazil, Russia, India, China and South Africa are the founding members of the bank.

2. Bangladesh and UAE also joined the bankin the year 2021

3. The Head Quarter of the New Development Bank is located at Capetown, South Africa
(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 2 only () 1 and 3 only

«y Jaaual-z ol opoid Dl U4 s @l i © 7

1. afla, 20, e, A 2 el 2ulEs dls- 2ams uedl 8.
2. 4 202141 SiBEd e 2 YA wer ols W AL

3. 4 Jaauile tlad yeu was 2uaiGH, elde sEs vud 2udg ©.
(A) 5 1,204 3 (B) §5d4 2 21 3
(C) ¥5d 1% 2 (D) $5d 1943

Which of the following statements is /are correct regarding NITI Aayog’s 4th edition of State of
Health Index for 2019-2020 ?

1. The report is titled as Healthy States — Progressive India —Fighting the Covid.

2. In the category of larger states Kerala, Gujarat and Maharashtra emerged as best three
performers in terms of overall performance.

3. The index has covered 19 larger States, 8 small States and 7 Union territories.
(A) 3 only (B) 2 and 3 only
(C) 1 and 3 only (D)1,2and 3

Al 2ulott 2019-2020 ML UAL 202004 asis 4 4 2ugld oord A1 W4 s/ Qu-y
Qe i d ?

1. wdata s - 2are Al - walAalla curd - Sldls wd dsg - 8.

2. izt ol sl 320, Aord 214 wewReg A5eR uedltll 2 2 Av ealsdl adld Geidl
el 8.

3. qasid 19 Wzt 20w, 8 et %l 2 7 el e ald wuadl dl .
(A) 54 3 (B) §5d 2 41 3
() 854 1241 3 (D)1,2943

According to the Government of India, Gujarat has secured rank in the implementation
of Shyama Prasad Mukharjee Rurban Mission.

(A) 1# (B) 3r¢
(©sm (D) 7"

MR ASIZ PAAAIR, ABAA AUV, HMAE R 36(4 Rl sHauddi ......... 53w
sl 8.

(A)yudal (B) A
(C) wizdl (D) Al

PSIMT -
1-B] 21 [PT.O.
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09s.

095.

096.

096.

Which of the following statements are correct regarding Antyodaya Anna Yojana (AAY)?

1. Initially 25 kg of food grains used to be issued per family per month, later it was increased to
35 kg per family per month,

2. Landless agriculture labourers, rural artisans / craftsmen, such as potters, tanners, weavers,
blacksmiths, carpenters, sluim dwellers are eligible under this scheme.

3. Households headed by windows or terminally ill persons/ disabled persons/ persons aged 60
years or more are eligible under this scheme.

4. Under this scheme the price is Rs. 5 per KG wheat and Rs. 7 per KG rice will be charged.
(A)1,2,3 and 4 (B) 1,2 and 3 only

(C) 2,3 and 4 only (D) 1 and 4 only

Hcdled 20 dlopit (AAY) suoid A U4 sun Rl e 8 ?

L. A3 WRarR €ls R e 25 Bl 2o suuani uiag ¢d, Wl d adld uBazels uldus
35 [3all Y4l s2aumi vuey,

2. 2l G602l [Adlen 50 wegdl, b sifloRl Fan § feudl, anBuidl, aswsal, ez,
YR, fusarlludl wa 8,

3. 24l 850 [Quauzil Haan 1asd albdzdl/fasaia bl / 60 ad 3 ddl ay au-u ausldzi-u
Aged S50 WRBaRl WA 8.

4, Ll 354 31 5 UA Bl 46 244 31 7 WA Bell 2Alvi cua dami viiadl.
fA) 1,2, 321 4 (B) §5d 1,243
(C) 554 2,314 (D) 54 1 21 4

Which of the following statements are correct regarding Kishori Shakti Yojana (KSY) of
Government of India?

1. The objective is to improve the nutritional and health status of girls in the age group of
11-18 years.

2. KSY provides the required literacy and numeracy skills through the non-formal stream of
Education.

3. Programme is implemented under the Ministry of Rural Development, GOL.

(A) 1 and 2 only (B) 2 and 3 only

(C) 1 and 3 only (D) 1,2 and 3

ozd 4252+ Belldl aBd Ao (KSY) etotd DA U4 s Qe i © 7

1. il GReu 11-18 -l auogu-ll slsA2i-u W 244 wRloy ) Ralui Yl sa 8.
2. KSY L (ot Brraiiualzs nane sl 33 Aiead 213 vy suddiue 532 8.
3.0 sisw anello Qs HALAY, HIRd 1512 S50 ANAH] Ysquui 2034 .

(A) 85 1 21 2 (B) §5d 2 944 3

(C) 55c 144 3 D) 1,243

PSIMT - D | 22 [ Contd.
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097.

097.

098.

098.

099.

099,

What is ‘bioleaching’?

(A) Bioleaching is the extraction of metals from their ores through the use of bacteria.

(B) Bioleaching refers to the use of microorganisms to facilitate penetration of groundwater.
(C) Bioleaching refers to exploration of hidden biodiversity treasures inside the marine ecosystem.

(D) Bioleaching is a property of certain types of biomass to bind and concentrate heavy metal
from even very dilute aqueous solutions.

udldlRor g8 7

(A) cudl Ui 31 sls2Rant Gudlal gzl d- s Hidl tgaild Frsde s

(B) ol RuEoL 3 garelran- udu 40 strtadt W2 YrHaodl- Gudlal Gedw 52 4,

(C) onedl(@Bio 3 eRurs wayfe-l viez guddl Fafaldudiu waaril aly sustd-l Gedv 52 9.

(D) (@R A vorrs won el siaeiEll el s gl sidal 2 A3lwd s2al w2 Alsn
USRA UL e 6.

Species diversity enhances the stability of a given ecosystem because —.

(A) It reduces trophic levels in a fooﬂ chain.

(B) It reduces the ecological niche of the species.

(C) It provides alternative channels for energy flow in food web.

(D) It reduces the gross primary productivity.

wonldii-l [AlRud 2l $sRzend Rauadl awl 8 e b........

(A) d vy givtaun 2l3 4 HAui a2l 52 6.

(B) 4 wealdzii-u vulazelly @QRredid ued 8.

(C) A vt i Gord-u v 2 AsfRus dadl ydl wd 6.

() d 5 walis Gauesd w2l 6,

Which of the following statements in relation to District Planning Committees (DPCs) is /are
INCORRECT?

1. DPCs are established under the provisions of the 73rd Constitutional Amendment Act.
2. Setting up of DPCs is mandatory for State Governments.

3. DPCs are to take up planning of both urban and rural areas, even when the urban area has a
Municipal Planning Committee.

4. Four-fifths of the members of DPCs are elected from members of Panchayats and
Municipalities.

(A) 1 only (B) 1 and 4 only

(C) 2 and 3 only (D)1,2,3and 4

Brea suuloy+ AR (DPCs) vieid A W4 s/sui RQu-yRAAL vigmla 8 7

1. DPCs Al 21yt 7341 sfRellu yart iRRuu-Al Aol dsu sami »udl 6.

2. DPCs Al 2t 52l %4 424121 W2 s2u1d 8.

3. a8 [Erazal #[AEUE sl wBld dla saua DPCs 21 289 v llet 6 [y
wudlog el Guz ddtt gl 8,

4. DPCs AL 4/5 uedl Uadl 2 4o sl aeduid Azami 2ud 8.
(A) %5d 1 (B) 55 1 ¥ 4
(€)$5d 2043 (D) 1,294 324 4

PSIMT - D | 23
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100. Which of the following statements is / are correct?
(A) The minimum age prescribed forany person o be a member of a panchayat is 25 years,
(B) A panchayat reconstituted after premature dissolution continues only for the remaining
period.
(C) Both (A) and (B)
(D) Neither (A) nor (B)
100. - 04 sy/sa Quueylal azjRua d ?
(A) M 46u gal W2 A6 e calbd-l MulRd aga a4 25 al 8.
(B) R udett (ARt Ol1E Yrt:2aetl SRNA Wi A sl AR Y2 Ay 2 9,
(0) (A) 11 (B) i
(D) (A) 241 (B) U4l 2Asue
101.  Which of the following statements is /are correct?
(A) Keylogger software records keystrokes to gain access to passwords or other sensitive
information.
(B) Spywares keep a track of activities of a user on a computer both in.online and offline mode.
(C) Ransomware is malicious software that blocks access to computers and data until a sum of
money is paid.
(D) All of the above
101, D2 U4 sa/sun Qe /i 6 ?
(A) SldlPR dls2dr wuady sad vy ddella WRdAlHL 253 Anaan w2 fladls 3518 53 6.
(B) 2udR il duy 2isaid- oid WSkl 5022 W gl uglizil 4R 25 ad 8.
(©) Fumdz 25 gRd Al52dR O B w2l 2634 Ysaai 1 2 ca Yol Azl 2 Jau Asdud
wazld 6.
«(D) GuRlsd AU
102.  The Minamata incident, an example for environmental degradation, is due to which one of the
following?
(A) Air pollution. (B) Nuclear disaster
(C) Water pollution (D) Thermal pollution
102, widrelly w180 Gereel, Brvudiaza Qa4 sy g2 6 7
(A) iy uguel (B) W3y 23y
(C) % wguel D) wi{e gy
PSIMT -D | 24__—_—__——-__ I Contd.
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Which of the following statements is / are corréct regarding National Disaster Management

103.
Authority?
1. The National Management authority is hieaded by the Home Minintcr_ol'lmlia.
2. The NDMA was established by the Govt of India under Disaster Management Act 2005
3. Institutional mechanisms at the State and District levels are mandated by the Disaster
Management Act, 2010
(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 3 only (D) 2 only
103l R adRAN Ariisn ouod - W4 sg/su [ury/latl /s ?
1. 20l 2R AARAA AT AL 28 MR AL B
2. 208l 2UUR acRaA Adisn- 2L cud U 51RAL Ul R ARMH, 2005 254
sl 2udl 8.
3. 21 A Brecat sl e 2l Rt cdzeni- ABFAUY, 2010 6121 522U el )
(A)§5d 1,2 %4 3 (B) §5d 2 %13
() 854 14 3 (D) £5d 2
104.  Which of the following newspaper was/were started by Annie Besant?
(A) The Commonweal (B) New India
(C) (A) and (B) Both (D) Neither (A) nor (B)
104, A8 A4 s)sui 2iveu/vendl widl Gz gt U3 sl sy d/edi ?
(A) 4 sixdla (B) 4 Sl
(C) (A) i (B) vid {D) (A) 27 (B) WA visue 4l
105.  Which of the following Round Table Conferences did Gandhiji participate?
(A) 1930 (B) 1931
(C) 1932 (D) None of the above.
105.  aiilesxl Dd-u 14 56 clade WRveni tua dAlal ¢dl ?
(A) 1930 (B) 1931
(C) 1932 (D) Gulsd WAL 516 =4l
106.  Which of the following lakes is /are related to Minaldevi, mother of Sidharaj Jaysinh?
(A) Munsar lake of Viramgam (B) Malav lake of Dholka
(C) (A) and (B) Both (D) Neither (A) nor (B)
106, Ruaioy pulis-l Hidt WAEdl 2l QA4 sef/sui #laz/larl Asudd s ?
(A) [Qauousg Yz dnud (B) HlAst Heua dvua
(C) (A) # (B) vir D) (A) 24 (B) L4 Asue 1l
PSIMT -D | 25 [ P.T.O.
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107. How many floors are visible in Rani-ki-vav of Patan?

(A4 (B)S
(©)6 (D)7
107, weedl udl awami dean yorar sizollaz a8 7
(A) 4 (B)5
©)6 D)7
108. Which of the following Goddesses is known as Sea Goddess?
(A) Randel Mata (B) Vidhadtri Devi
(C) Shikotri Mata (D) Meldi Mata
108. AR U4 56 2l RS 2l a3 vilroiru & ?
(A) Aeduidl (8) @Al el
(C) Bsladl s (D) Al
109" In which of the following sports event did Sarita Gayakwad bagged gold medal at 2018 Asian
Games?
(A) 100 meters run (B) 4 x 400 meters relay run
(C) High Jump (D) Long jump
109, uRett duusad 2018 AR 23l £33t QA4 V4] 56 2uni el s wivet sl ?
(A) 100 {23 €13 ¢B) 4 X 400 Hl22 914 €ls
(C) Gl 524 (D) aioll ge51
110. Which of the following players has announced her retirement after the 2022 season?
(A) Saina Nehwal (B) Sania Mirza
(C) Mary Kom (D) Mithali Raj
110. A4 A 56 21412 20220 Raoset bue Wil Mald ndz 50 0 7
(A) At 48aue (B) MR R
(C) 44 8lu (D) Band) 319
1L QA4 U4 sun aoell otsell 0= 97
1. [eal 2. 4udl ERERTET 4. Wi
(A) 551,294 3 (B) $51 2, 3947 4
(C) 551,301 4 M) 1,2, 333 4
12, Qa4 sur aoe-l sdsell vilé] 97
(A) gl B) Bragy
(©) [aaya (D) $30Bryq

13, DA Bdui vidsi-l w52 v,
“6 Haqudl, el idl, 1 dldlHl ad).

(A) 3us (B) Guay
(C) Ase1Es12 {D) =49
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114.

QA lEaui westz-Al ustz v,
] W, ollea ot et A

FA) 2t (B) Guut
(€)3us (D) 242t
115, Caual 2iffaas uaie sl
“Reaaud”’
(A) Al + HUAS (B) et + HAS
(C) Aedl + A& (D) &ed + A
6. il ARRAS wHE 53U
“ylysR"
(A) MRl + U5IR (B) U= + Gus12
(©) 4dl + Gus? (D) 4Rl + GusiR
17, sl e 3Rualol il #1o waie 520,
(A) u¥d MUt (B) di2t Anadl
(©) wdll g (D) gs2u-t MW 539
118, “2ulRyl dlaql” 3Eualol 02l v uzie 530,
¢A) WAL Yy dladl (B) ARl uzio usndiell dladt
(C) o411 Y3l adl () uigll dladl
119. D A4 sl s “yael” -l sl 44 ?
(A) &4 ¢B) il
(C) 55 (D) 2%
120. DA A4 sal uos A Al (Aol 4d?
(A) sl7s (B) 2[Goad
(C) #qus D) Gess
121, aqr arsni 23 EA 2l el SR Ybe 520,
A du dl A Aui Rdein Guid oflg + Ay,
(A) 6% (B) deyam
(C) sHuRYU (D) Guue
122, A arguui 2930 1Rl Rl s waie 3.
A § A6 ofloa 2uni -4l €l dl uat qerudiell s [@9 wug ¥ sdd 3 *iraql BAR Asia wivz
wilzdlu 8,
(A) &% (B) ey
(C) sHtu (D) Guue
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123, oAssrapsl:

2w vildl
1. 5202 (53 B) () Griz gt (uzell) ol
2. dien () () neat gl (a2ladh) il
3. Gl (sl (¢) £zt oAl (gadl) eldl
4. 36 () (d) Alzez-l oildl
(A)l—a,2-b,3-c,4-d (B)1-b,2-2a,3-c,4-d
O1-¢2-d,3-b,4-2a D1-d,2-¢,3-b,4-2

1240 AAAOIBAAL 96 2,
WIg O d 4wy dui 59 4 A sidladl ?
HiAlg 23 dl § ng] 3 el 8.
(A) HEsial (B) Brafzell
(C) HrteR (D) aRidldas
125, Al i 2 2l 2 st vaie 53
Ao Wuadlui avami vucul.

fA) s B) &y
(C) Guue (D) deyu
126, Al U4 A A sl gamBadl 1R A wd 87
(A) 1R el (B) Hieus
“(C) (A) % (B) o (D) (A) 214 (B) U4l 2Asuer 4l
127, e, 6iL 8(3 412 2000004 8.
(A) R Héal (B) Hau-e
(C) sui-ie (D) vl
128, . 28543l :
1. 3aeu AMa (a) Yau-ie
2. dluglewl (b) 21v4]
3. Rsia oflall (€) actd A}
4. Q1SAURGL (d) MG
(A)1-a,2=b,3-c,4-d B)I-b,2-43_d4¢
(C)1~b;2-¢,3-a,4-d (D)l~d,;v._t,‘3hb,4_il
129, il B i .o A e Rett adl3 gy 6
(A) 19421 (B) a{g
() syl (D) Nogy atu
PSIMT _n 1 B e
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-130.

131.

132.

»133.

134.

135.

136.

WRua Jup ouoid - U4 53 / s @/ Qul /i 97
(A) A2l “eR1er aadl” A Al — 20 Al o Aaasasil avil 9.

(B) A2l 2y yuizs 2 snaella s,

(C)(A) 4 (B) 6id

(D) (A) 24 (B) U4 AAsue dl

LAGAUU SELZ 2vnrerne. Sl 2A3W 2 oAl .,

(A) 53R 51U B) uld2

(C) sl (D) 2uvui

e A 2400l ST A A A 251630 AL Y2512 Uit 2l .
(A) HsgaeusHl sl (B) sla-l aeu

(€) wuudl (D) Al WAL 2USAHE
AR5 AL :

L AMARMA WESs (a) AS1M
2. qgeus el (b) uyl>

3. Guugis: sl (c) e2ls

4. 125 [Qaiell () ESEICTIE
(A)1-2,2=b,3-¢,4-d (B)1-2,2-b,3-d,4-¢
(©)1-d,2-¢,3-a,4-b D)1-d,2-¢,3-b,4-2a

»daie Aaell ouotd A1 A4 sy fsut R/ Qe 0/ wad ?

1. dnd gt 5@’ sdai 2ud 8.

2. dxA “andlu R B3 vuvami wudy 8.

3. vl sQd, -uezs, qaasul, qalast, Roid Fai [@ay e 2a3ului us 54 8.

(A) §5d 1 (B)§5d 11 3
(C) §5d 2 9413 D) 1,243
Asst At :

Lougeus vl (a) und-l sad
2. ULAld W24 (b) 32 dl Rt 3 onsfl el
3. Sz dedlse (c) 215H ollasy

4. U Wb (d) wudly
(A)1-a,2-b,3-¢c,4-d (B)1-b,2-a,3-¢,4-d
(C)1-b,2-a,3-d,4-¢ M1-d,2-¢,3-b,4-a
weatd Adl Ben 2 .......... tadsul Gyell eriacini 2udl 8.

(A) LA WAL U512 (B) detiX
(C) il 2 (D) Al s

PSIMT - D | 29 [ P.T.O,
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T137. G4 e wsiedl wlld e, 8.

(A) a1t (B) Aléis
(©) Al () B2l

138, “wuyl adl 2 A0l QA il © 7
(A) 2R Hdetl (B) 50012
(©) iows (D) Hau-ie

139, “yaq aquy bty ad, [Qqan wi- aaiy,
A A pud 14, U A 43 A
=B 2 s usiRe Rl BZe 53 87
(A) 5218 51y (B) ¢sdll ausa
¢C) el olla (D) dldolld

140 “vtdedl 20" UL ... el
(A) EURIH (B) An-e
(C) aca™ Hausl (D) vl

141.  Orders were thatwe ___ the areawithin hours to prevent further loss of life.
(A) had evacuated (B) have to evacuate
(C) will have evacuated (D) had to evacuate

142. Asl____ youyesterday, the Home Secretary  over this afternoon’s discussions.
(A) have told / was presiding (B) told /will be presiding
(C) would have told / had presided (D) will tell / has presided

143 Whatl _____ isthatwe _____to think seriously about a thorough reform in the legal
system.
{A) have proposed / should have begun (B) had proposed / were beginning
(C) am proposing / begin (D) was proposing / have begun

144, ~ More than half of the 850 asylum seekers c_urrently detained in Britain in prison with
no right of appeal, even though-the vast majority with any offenmlone convicted,
(A) were held / are not charged
(B) are being held / have not been charged
(C) have been held / would not be charged
D) being held / had not been charged

145. :Jpc;rr::i:(gu:;: :li,ll]mtry_ a vast police state thag & sittmork i eentoniion Ginip
(A) was maintaining / has included
(B) had maintained / would include
(C) is maintaining / had included
¢D) maintains / included

PSIMT - D | 30—
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station along the way, but it stops at of the main ones.

146. The train doesn't stop at
(A) all /either {B) every / most
(C) each /niuch (D) both / some
147. ink in my pen is red.
(A) The tB) An
(O)A (D) No article needed
148, He likes to play _ volleyball.
(A)a (B) an
(C) the {D) No article needed
149. My husband’s family speaks French.
(A)A (B) An
(C) The £D) No article needed
150. Despite the official ban demonstrations, the agitating students came out on the streets
massive numbers.
(A) about / by (B) for / with
(C) over / at (D)on/in
151. some cancers, the best therapy is a combination surgery, radiation, and
chemotherapy.
(A) with /through (B) about / in
(C) for / of (D) on/to
152.  They are planning a pipeline from Baku in Azerbaijan Turkey to the Mediterranean
Sea.
{A)against (B) below
(C) amongst (D) across
153. We are, from this date forward, cancelling your company’s credit facility with us your
poor payment record.
tA) on account of (B) even though
(C) in addition to (D) in spite of
154.  Several doctors were infected by Covid 19 performing their duties.
fA) during (B) while
(C) by the time (D) as soon as
155. They will demolish the entire block (Change the voice)
¢A) The entire block is being demolished by them.
(B) The block may be demolished entirely by them.
(C) The entire block will have to be demolished by them.
(D) The entire block will be demolished by them.
156. The government has not approved the new drug for sale. (Change the voice)
(A) The government approval for the sale of the new drug has not been given.
(B) The new drug has not been approved for sale by the government
{C) For the sale of the new drug, we have not been given the approval
(D) The new drug was not approved by the government.
-
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157.

158.

- 160.

-161.

162.

-163.

164.

165.

» 166.

y L (C the voice) i
He teaches us grammar. (Change p— (aught grammar by him.

% teached grammar by him,
(C) Grammar will be taught fo us by him. (D) We were

* (Change the narration)

(A) Grammar was taught to us by him.

He told her, ‘T want to meet your father
(A) He told her that T want fo.meel your father.

(BB) He told her that he syanted to meet her father.
(C) He told her that he wanted to meet your father.
(D) He told her that she wanted to meet her father.

: 27 (ClH tl i
w 7’ (Change the n
He asked her, *Can you lend me a hundred rupees until tomorro ( & arration)

(A) He asked her whether he could lend him a hundred rupees until tomorrow.
(B) He asked her whether she could lend him a hundred rupees until the next day.
(C) He asked her whether she could lend me a hundred rupees until the next day.

(D) He asked whether she could lend me a hundred rupees until the next day.

He said, “Why didn’t you send your application to me 7’ (Change the narration)

(A) He enquired why I had not sent my application to him.
(B) He enquired why I did not send my application to him.
(C) He enquired why had I not sent my application to him.
(D) He enquired why did I not send my application to him.

In training, it is suggested that an instructor not lay a burden on an individual beyond his
. (Select the correct phrasal verb)

(A) bearable (B) limit
(C) value (D) deficiency

It was surprising that the main opposition party the ruling government on fhe new
regulations of the laws related to the private institutions. (Select the correct phrasal verb)

(A) backed up (B) checked out
(C) looked over (D) allowed for

I think he made this decision so that it was too late when he realised that he’d made 2
mistake. (Select the correct phrasal verb)

(A) hastily (B) elegantly
(C) solely (D) reasonably

We regret that all buses to Jamnagar wil| .
— ex , ther
conditions. periefice delays due to bad wed

(A) announcing ¢B) to announce

(C) to have announced (D) to have been amnounced
Your proposal deserve in detail,
(A) being considered

(C) to have considered

(B) considereqd

: tD) to be considered
The money in our pocket far less today thap

(A) could buy / would
(C) should buy /had

ten years ago.
(B) can buy / haq

(D) might buy / should

PSIMT -D | B B g
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~167. They reminded me that we an carly start the next morning, so we late to bed.
(A) would make / didn’t need to be (B) must have made / can’t be
(C) would make / wouldn’t be (D) could make / needn’t have been
168. Her character is very mild. (Select the correct word having the similar meaning for the word
underlined)
(A) Rude (B) Bad
(C) Gentle (D) Angry
169. The new officeris an arrogant young man. (Select the correct word having the opposite meaning
for the word underlined)
(A) proud (B) handsome
(C) tall (D) modest
170. One word substitution : That which can never be believed.
(A) Irrevocable (B) Inevitable
(C) Incredible (D) Irritable
171. The perimeter of a circle having radius of 5 cm is
{A) 30 cm (B)3.14 cm
(C)31.4cm (D) 40 cm
171 5 AL B wad adal WBRA .......... 8.
tA) 30 AL (B)3.14 AL
(C) 31.4 AL (D) 40 AL
172. The area of the square that can be inscribed in a circle of radius 8 cm is
(A) 256 cm? (B) 128 cm?
(C) 642 cm? (D) 64 cm?
-172.+ 8 Al Buosut datadt agui 2l 590 usi 2 g AAS ..poi B,
(A) 256 242 (B) 128 A2
(C) 642 A2 (D) 64 {2
173.  The surface area of a sphere is 616 cm?. Its radius is
(A)7 em tB) 14 cm
(C)21 cm e )
173, Agolard awdld Axgn 616 12 8. A Bt ......... 8.
a)7 4l @) 14 A3l
(C) 21 44l (D) 28 Al
174. ‘A’ and ‘B’ together can complete a piece of work in 15 days and ‘B’ alone in 20 days, in how
many days can ‘A’ alone complete the work?
(A) 60 (B) 45
(€) 40 =50 .3
78 ear o <Bb s st ud MR 15 Beenl yel 8 03 6, i B lsell 20 Rari el s 23 6, L a0
sl Jzeu Raumi yel 59 usdl?
(A) 60 (B) 45
(C) 40 @) 30
PSIMT - D | - LRRG,
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AB. IfOA=5cm, PO=7cm and gy, of

~175; In the figure, PB and QA are perpendicular o segment
A QOA =150 em?, find the area of A POB
a /
/
07
/'//
(A) 233 cm? (B) 294 cm?
(€).300 cm? (D) 420 em?
175, 200l 2uslAni 3vuvis AB Gu2 PB A QA st2viel wuida dot 8: A OA =5 A, PO =7 33 4y
A QOA o AAg¢ = 150 A2 ¢lu dl A POB A5 Aldl.
P
Q
o
A
(A) 233 A2 (B) 294 A2
(C) 300 #32 (D) 420 A2
176. Two Trains for Mumbai leave Delhi at 6:00 am and 6:45 am and travel at 100 kmph and
136 kmph respectively. How many kilometres from Delhi will the trains be together?
(A) 262.4 Km (B) 260 km
(C} 283.33 km (D) 275 km
176. G2 [Redlell Houd o AR 6:00 Al 21 6:45 i3] 391 o )
. U8 2 w5 100 (a0 A seus 24
136 (3.3 uld scud-l dad nd063 8. Redlell 324 3.9, £ 26(A 2_1 ol ugl ?
tA) 262.4 (3.4 (B) 260 (2l
(C) 283.33 (3.4l (D) 275 (aq,
177. Which of the following ratios is equivalent to 2.3 2
(X)4:8 (B) 4:9
(C) 6: (D) 6:12
177 D WAL sul ogpin2 2:3 4 ause 9,
() 4:8 B) 49
© 69 ®) 612
_—__—____‘___h-_‘-h__
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‘A’ is two vears older than ‘B’ who is twice old as “C”. if the total age of ‘A’, ‘B’;and ‘C’ is

178.
27 years, how old is ‘B* ?
(A)7 (B) 8
©)9 (D) 10
2178, CABUB s 2 ad WA, § B O bt ol WZL 9. o AT B uA O ga Buz 27 add gludl
B’ Al Guz el udl ?
(A)7 (B)8
(©)9 (D) 10
179. ‘A%, ‘B’ and “C’ start together from the same place to walk round a circular path of length
12 kms. ‘A’ walks at the rate of 4 km/h, ‘B’ 3 km/h-and *C’ 3/2 km/h. They will meet together at
the starting point at the end of hours.
(A) 10 (B) 12
(C) 15 (D) 24
179, AL B WA O uls o powadll Al 12 (Ball. dion aduusiz we Guz waad U3 52 9.
A 4Bl /sas, B 3 Bl sas wiA <0 32 B0 saus alaal wd 8. duilel 7 wowdl aaald
U3 54 g 2 WU .......... 56415 ouE dlou udl.
(A) 10 (B) 12
(©) 15 (D) 24
180. ‘A’ runs twice as fast as ‘B’ and ‘B’ runs thrice as fast as ‘C’. The distance covered by ‘C’
in 72 minutes, will be covered by ‘A’ in minutes.
(A) 18 (B) 24
(C) 16 D) 12
180. ‘A7 ‘B’ sl ouell 33Ul €1 8 A B A sctt ‘O AR g 58l € B, 4C gt 72 Hiflewi swdg
2d2 A’ 43 .......... Hidl2ui swiel.
(A) 18 (B) 24
(C) 16 (D) 12
181. An athlete runs 200 meters race in 24 seconds. His speed is km/h.
(A) 20 (B)24
(C)285 (D) 30
181 s elsdlz 200 22 €18 24 As~sui R B. Al Ald .......... Bl /seus 8,
(A)20 (B) 24
(C)28.5 {D)30
182.° A man starts climbing a 11 meters high wall at 5 pm. In each minute he climbs up | meter but
slips 50 em. at what time will he climb the wall ?
(A) 5:30 pm (B) 5:21 pm
(C) 5:25 pm (D) 5:27 pm
182, sl 11 Wlez G0 B i 5 sl asa 4343 8. d e3s B2 1fl22 2d 9 uig 50 Al qu
8. A Jzel a3l Raue 28l usdl ?
(A)5:30 pm (B) 5:21 pm
(C) 5:25 pm (D) 5:27 pm
N e —
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eds of 45 kmph and 72 kmph WSPEctively‘

c "
183, Two trains 105 meters and 90 meters long, run f" the :[')cli they take to cross each otheris
in opposite directions on parallel tracks: Fhe time wht _—

seconds,
(A)8 (B)6
(C)7 (ms

1 i l :L 5 B"“J&C .

72 (.0 ses Al AR €13 8. dvil wAselloadt w2 S2AUME onnnies

(A) 8 (B) 6
©)7 (D)5

184. If2/300A=75%of B=0.6 of C,themA: B: C=
(A)h2:3:3 (B)3:4:5
(€)4:5:6 (D)9:8:10

184 AAG23=BATE% = CHi0.6 QU Al A:B: C= oo
(A)2:3:3 (B)3:4:5
(C)4:5:6 (D)9:8:10

185. Tickets numbered 1 to 20 are mixed up and then a ticket is drawn at random. What is the
probability that the ticket drawn has a number which is a multiple of 3 or5 ?

(A) 172 (B) 2/5
(C) 8/15 (D) 9/20

“185. 14120 54 2uddl A412 QAo 5 Barmi 20 B 1A wRoUE s A4e welys N Wy 204 8, »
412 3 2aa 5 Al Aais bl lu A ieud- 32l ugdl 2

(A) 12 (B)2/5
(C) 8/15 (D) 9720
186. Three coins-are tossed, what is the probability of getting at most two heads?
(A)3/4 B) 1/4
(C)3/8 ®)7/8
186. | Aw Russiadl Gl wd 8. a4l a4 Wil (Heads) dlan]] Aol g 87
*(A) 3/4 (B) 1/4
(C)3/8 (D) 7/8
187.  Insect : Disease ::War: _ ?
(A) Army (B) Defeat
(C) Arsenal (D) Destruction

?

187. ozl 1Y :

(A) A (B) 12
(C) ARALUR (D) [
—_—
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188. Which of the following words is different from others?
(A) Sparrow (B) Swan
(C) Parrot (D) Pigeon

188. AN sul 2oe 2puell med ud 97

(A) usdl B)
(C) ulue (D) 56442
189.  6,11,21,36,56, 7
(A) 91 (B) 51
() 81 (D) 42
189. 6, 11,21,36,56, 7
(A) 91 (B) 51
(C) 81 (D) 42
190. If ‘PROSE’ is coded as ‘PPOQE’, ‘LIGHT willbe
(A) LIGFT (B) LGGHT
(C) LGGFT (D) LLGFE
2190. % ‘PROSE’l 55 ‘PPOQE’ ¢lt dl ‘LIGHT’ il 85 .......... wil.
(A) LIGFT (B) LGGHT
(C) LGGFT (D) LLGFE
191. ' FAG, GAF, HAL IAH, ____
(A) JAK (B) HAL
(C) HAK (D) JAI
191.  FAG, GAF,HALIAH,
(A) JAK (B) HAL
(C) HAK tD) JAL

192. A person walks 30 meters in the North-West direction of his house and then 30 meters in the
South-West direction. After then he walks 30 meters in the South East direction. Now to return
to his house, in which direction should he go ?

(A) North-East (B) North-West

(C) South-East (D) South-West

0192, s ulbd At as- Griz-ulau i 30 {2 1A 8 2 curel d elfe-uBan Rami 30 Wle: 04
8. cuoue A sBer-yd Bai 30 Wz d 9. ¢ oA 48l d-u 8l g dludl Al 58 Bauni oq wsdl ?

(A) Gr-yd (B) Grx-ulu
(C) elAer-yd (D) elda-uam
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-
isters to one another. ‘2 is the mother of ‘0.

o ol i.:ot:cu:onir‘filf:::-‘lfil;l?: ‘rin‘.?‘r:l::‘::raitmme“ pige x?
(A) *Qis grandfather of *A’ (B) ‘P’ is the maternal uncle of “A
(C) “P’is the cousin of ‘A’ (D) ‘Zis the brothergf*C”
1930 A O L A5 B, pad 15 Sl el 9. 2 A QA w8, AP A2 g
dly, dl Ao U4 s Quetauz 6 ?
(A) Q" ¥ A” AL EAEL B, (B) ‘BF W LA @
(©) P 3 A L 5l 6. @) 2 A‘C A .
194. Choose the word that is necessary part of the given word.
Book
(A) fiction (B) pages
(C) pictures (D) learning
194. AR vl el o3 ouat eafadl 2os waie 53,
Yt
(A) steuls (B) Wil
(C) Rl D) ellmg
195. A clock shows 8 O'clock in the morning. Through how many degrees will the hour hand rotate
when the clock shows 2 O’clock in the afternoon ?
(A) 144° (B) 150°
(C) 168° (D) 180°
¢ 195, - 3l allun aar-l 8 avul 2au oidd 8. s alwn sl 2 apa wmy eafadl Al saisd
sizl sea 13l sul el ?
(A) 144° (B) 150°
(C) 168° (D) 180°
»196. A shopkeeper earns a profit of 12% on selling a book at 10% discount on the printed price. The
ratio of the cost price and the printed price of the book is
(A) 45:56 (B) 45:51
(C) 47:56 (D) 47:51
0196, WL EHER W5 gwa{l todell B 642 10% RasiGz QAR 59 12% 851 s 8. yasl
(B 244 Al eordell Baetl 2Rl ... B,
(A) 45:56 (B) 45:51
(C) 47:56 (D) 47:51
#197. ?e{l?::i;:fi:eb:i{r:;hr Rs. 2,850 a shopkeeper gaings 14%. If the profit is reduced to 8% then the
(A) Rs. 2,600 (B) Rs. 2,700
(C) Rs. 2,800 (D) Rs, 3,000
" iifcﬁlﬁ&l:tj?%::wa > 2312150 MR s 1% g3 g, A 481 4213 8% seawi wd 4
(A) 3L 2,600 (B) 31. 2,700
(C) 31. 2,800 (D) 3L 3,099
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~198. ‘A’ started a business by investing Rs. 9,000. After 5 months ‘B® joined with a capital of
Rs. 8,000. If at the end of the year, they earn a profit of Rs. 6,970, then what will be the share of
‘B’ in the profit ?
(A) Rs. 2,380 (B) Rs. 2,300
(C)Rs. 2,280 (D) Rs. 2,260
*198. AT 3L 9,000 At A0 WA AWR U352 0. 5 HdlALoUE B 31 8,000+ 38 208 Asiu 8. A AL v
Ax{2 31 6,970 F2dl gl ANl dlu dl B A 51+l bzal wual wagl 7
(A) 3L. 2,380 (B) 31. 2,300
(C) 3L 2,280 (D) 3L 2,260
2199.  ‘A’and ‘B’investin a business in the ratio of 3:2. If 5% of the total profit goes to charity and A’s
share is Rs. 855, the total profit is
(A) Rs. 1,425 (B) Rs. 1,500
(C) Rs. 1,537.50 (D) Rs. 1,576
4199, A Al ‘B 3:2 -t 2JRllvR i dwiRAL A0 53 8. % 54 491U 5% Bl L Sld v A AL [0l
3L 855 ¢l dl 54 8l ... sl
(A) 3L 1,425 (B) 3L 1,500
(C) 3L 1,537.50 (D) 3L 1,576
200 H hi 4 h 2
A ow muchis 20 greater than 20
Re. ]
o B 1
© 20 ®) 40
200, 22 pa seqaui e ?
20 20
21 21
—_— B —_—
(A) 35 ®) %0
17 ¥
© 2 ® 4
_'__‘-‘_‘-‘-‘-\—u-
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